EARAROBEEIERT — 2 N— IBISH —F

201551090 (&) 14EEHE4H

KW 5 3m%16# 16 ¥5%R3K% (xwlw | lmEmml - |5 5) wom 8
[AE£] 1% :230,000” ~ 2#&:4,000”M ~ 37%&:16,000 ™  43%&:12,000” / 5&:0H
WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
_ S 3 | M 1:31.0 1-1-1-1 | 40.9| -— 1 510 | BO%Rk (BEE)
h—FRN L 56.0 =) (+2) | REME ()
R:TIRAFTT2I B bh—FRyAL> me =A
S =, o5 4 3 | 1R 1:32.1 5-5-5-4 [39.3| — 4 433 | AEED (BHE)
XA 377H- 54.0 ®) 5 | () J PN
Lx L THANAN By vV bL—X [Ed=tie )
5 — KA E : —4-3- — SiEtE
2ATIHTAT 4 3 ggfgﬂ’éa 1.(332).7 3-4-3-3 | 40.7 2 495 EEI&% (B&HE)
QiRTY—rE—O— BESUL ) m@Ezxsy K
. NN BBEE : —6-6- — HERRIE (BHE)
PO L 4 3 i 1.(333).4 6-6-6-5 | 40.5 5 (:sg) L(*;) L I
R:TZ79v 784K B:9xT74>957 HEE {5—
. = . _g-7- — &/l —
JYINTF 4 X it 3 ﬁ%k 1.(323).8 8-8-7-7 | 40.5 7 458 ﬁé%g B (BEB)
L ALTHANAN B FIS—F 1T D i SPR
. 4 3 | FERRA 1:34.2 4-3-4-6 | 42.1| — 3 444 | ROFE (BHE)
6111 AY—=3a>H—+h 54.0 2) (+14) XHEE ()
x> v /%% B:ayvs=— J =Y Tr—L
. SHEA 25 o0~ 5| — NIER (BEHE)
7lglg|Fzv—zEU VY 8 7 B R | e |
L7 RIA Y L= BIALTy bEYT FHBSE
N RIRFARR : —7-8- — HWah— (BHE)
glsls|Ev /%ty i 3 o 1.(3‘8.0 7-7-8-8 | 42.7 8 <3+974) o
R:T7 RIS Y L—> B:IA S TpA1N— FiE RiT
@ 1—F—@&BIEf
1a—74— 6,8,2,1,7,3,5,4
Aol=5r= 6,8,1,2,7,3,5,4
G§a=7r= 6,8,2,1,7,3,4,5
41—+ — 6,8,2,7,3,1,4,5
[ RN
B OB 6 1204 714K 6-7 190H B E 6-7 430M &R 2-6-7 480M
% B 6 100 2-6 1400 | | B B 6-7 590/ | | SEE 6-7-2 1,510
7 130M4 2-7 370M
2 1204

ABICOVWTRDTEEERROODE. TR LIV,




